[bookmark: _gjdgxs]Station #1 - Oh look a tree!
For each of the Pedigrees below, answer the following questions:
A,   What sex is individual I-1?
B.  How many children did generation I have?
C.  What percent chance does generation II person 3 and 4 have of giving birth to a child with the disease listed in the pedigree key?  Show your Punnett squares!
D.  How many children in generation III are carriers of the disease?
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= not affected
= have sickle-cell anemia
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= not affected
= have cystic fibrosis 
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= not affected
= have Huntington’s
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